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Note : First 15 minutes are allotted for Fhe
candidates to read the question
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iii) uEl & it SR fafau
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i)

InStde?n All questions are cumpulso_ry.
Marks allotted to each question
are given in the margin.

In numerical questions, give all

the steps of calculation.
[ Turn over

ii)
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34T7(WC) 2
iiij Give relevant answers to the
. uestions. ‘ ‘
v) ve chemical cquations

wherever necessary. -

1. W9 ¥ 7§ TUS H 9% R mo #)
we fawe g I/ ot IW-gfeE A3

fofauw : |
%) < fafoem ok mifa §

ij A ii) :

iii) IETTF  iv) gﬁﬁﬁg;‘ﬁ] {
) fedis o1 Fe397 qorOrd g &

i)y oo = 9 s &

i) e stidea &

iii) foerET i HivieEr &

iv) foemas =t gieear & 1
m efafan a9 afufesr # fag

Zn + Cuz"'[aq}___’znﬂ-l-taqj_'_ Cu

(E} 1z, =-0-76V,
..:.-u+2;cu =-+0-34 V)

ST WEMFE

i 1108= i) 0104k

iii) - 110 iv)] -0110awr 1
v) I Hie w afubrar & a1 Pawie w9

T -

i) min~!

ii) L. mole~!, min-!

iii) mole. L™, min~!
iv) femrta) 1
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yfegA g A
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jij HzPO, |

qqafza €A & 2

) WA A AR _

i) @ (fats) W AW A (fatty acid)

1
given in cach part

lves arc
Four alternativc Select the correct

this question. Scl€ t
g{tcrnativg and write it in your answer

a)

b)
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ok . .
o licon and germanium arc

Pure si
1 Conductors

i1) Insulators

i1 Semi-c?rtirclluc.;tors Y

i e of these. _ o

}I?he ﬁggression of freezing point IS
rtional to .

Eropgdoil?: fraction of the solution

ii) Molarity of the solution

iiil Molality of the solution :

ivf' Molality of the solvent.

For the following cell reaction

Zn + Cu?* (ag)—>Zn**(ag)+ Cu

) =-0-76 V,
(E2n+2f2n

’ =-+0-34 V)

Cu+2}Cu

The E.M.F. of the cell is
) 110volt 1). 0-10volt

iy - 110volt iv) -O-110volt. 1

I Tarn over
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d)

Q)

m

The unit of rate constant of zerg

order reaclion is
i) min”!
i) L. mole™! . min!
i) mole. L7!. min~!

iv) dimensionless. "1
PCl, reacts with water to form -

1} PH, i) H,PO,

w) POCI, wv) H,PO,. 1

The enzyme pepsin hydrolyses

i)  proteins to amino acid

i) fats to fatty acid

iii) glucose to ethyl alcohol

iv) polysaccharides to
monosaccharides. 1

c.cp SeTH H HeM A & Mor
Il | c.c.p ITH I e Gl
h.c.p. Siieis ¥ forg wer fawr & 2 5
Qs'ﬁmwaﬁloﬂﬂmﬁqﬂaﬁqﬁ
gt T 3, fe m.p. 80-1°C %, ak
oo o HATH 0-680°C uhgg fwar
T FOHE F AR F WA BT
AT T qu.@5°8kjm§| 9
o R @t R e w6
Weraal & T Hifw )
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e F 6 wam Fie F AT
99-q9 3HfTFAT Ui g | T T, AS
G @ Qo @ | e wma # 10 T
g & | 2
Calculate the packing efficiency in
c.c.p structure. How does it differ
from packing efliciency in h.c.p.
structure ? _ 2
A solution containing 256 gm of
sulphur dissolved in 1000 gm of
naphthalene, whose m.p. is 80-1°C
gave a f[reezing point lowenng of
0-680°C. Calculate the molecular
weight of sulphur. kf for

naphthalene is 6-8 k/m. 2
Determine the equilibrium constant
with the help of Nernst equation. 2
Justify that the time required to
complete 99-9% of 1st order reaction
is 10 times of its half life ime. 2

1 B & v (et RS JHET

qifeTe) —

i) aﬁﬁam@?ﬁmaﬁ@f&rﬁr
¥ siadiga & ¢ 2

i) WA 38 W T
TReERs AT F@R 2 1+ 1

-0.1 mol]_,‘l KC[W%‘:&@@

geEd ¥ T WM 100 Q ) AR
3@ ¥ = s 002 mol L™ KCl

il Turn over
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b)

&

femq W W 520 Q ®, @
0-02 mol L' KCl foermm | I

W WeR  aeddl ORI s
01 mol L'KCI faorem st wommen

1;293;’1:11%! 2
Ia SR TR vfwar Y St
ST {aehal Sl TR0 2

TEaEd W % A ey i
FiT

i) mqa'mqa TRl

) Hiee 0@ Hie 39 1+1

What happens when (write chemical

equations only ) —

i)  Chlorine oxidises iodine in the
presence of water ?

1) Chlorine reacts with cold and
dilute solution of sodium
hydroxide ? 1+1

When a conductivity cell was filled

with 0:1 mol L~! KCl, it has a

~ resistance of 100 Q. If the same cell

was filled with an aqueous solution
of 002 mol L~ }of KCIl, resistance
became 520 Q. Hence find out the
conductivity and molar conductivity
of 002 mol L KCl [ The

conductivity of 0-1 mol L~! KCl
solution is 1-29 s/m ], 2
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Explain molecularity and Dr?:; of 3
reaction with suitable exampies.

. : he
write the relationship between t

following : _

i) Normality and Molantyﬁ .

i | fraction.

ii) Molality and Mole . g

) Frafefes @ Al & @SS
faama faf@y :

(x) Cr3* y) Ce**
i) WU NG TH I HEE &
A el %ﬁ@ﬂl 2+1

) iR e s drefes
W W SHH fhy wR ww
A ¥ ? WEFRY |

i) PR F YN ¥ TREEE
R‘ﬁﬂmm%ﬁgq, .

i) UieRfEEITRRE WS o

| Tt et faf@n ) + 1+
fdfedir o fedi, wifeem Tl

FaMe T Wefimy

FRSRISE H O A S wfy et g

2 2
fafau

1+1+1

| Turn over
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a)

b)

d)

3

: i wn the elécu‘onic
! ‘:u:ﬁ'fguriﬁun of the following
two 10ns :
) ot (y) Ce*t
i) Write down the structura)

formulae  of chromate anpg
dichromate ions. 2+ 1

i) How is decron obtained from
ethylene glycol and terephthalic
acid ? Explain.

1) Write chemical equations for
reactions involved in synthesis

of Bakelite,

Write the chemical equation

for - the synthesis of

polyacrylonitrile, 1+ 14

Cimetidine and ranitidine are better

antacids than sodium hydrogen

carbonate and magnesium or
aluminium hydroxide. Give reason.

1)

1L+
2 2

Write down the applications of
Helium, Neon and Argon. 1+1+1

LU.P.A.C 7 fafigg .
X} K,lCr(c,0,),]

N (ColNHy) (o et
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i) [FelNH,),(CN))~ & =

gorEget TEA FRU 2+2

i) FROT gR §¢ Frfatad i &RedT
1 gl g HH @D
NH,, (CH,),N,

CH,NH,, (CH,),NH.

i) IRCAEY TEwr ¥ TR q9T
TR § Wl g v e
T 2 Fa TS e
e

ﬁmﬁafaaqtﬁfimﬁmﬁﬁwfmz

i) NG T Feew

i) et g

i) Ak

2 a8

RUBE scifof

IT+1+1+9

Frefafes et ¥ T ot =) 398

Tl it foa - |

i) Al (ii) Fe (iii) Cy (iv) Zn

. ‘ ‘ 1+]

1)  Write LU.P.A.C names of :hf: v
following coordination '
Compounds :

X} K,[Cr(C 20,4),]
y) [CO{NH315{003” Cl.

‘ '“"‘n Over

10

J4TNC)

i) Draw the structures of
geometrical isomers of
| Fe(NH,),{CN) ]~ 2+2

b) i) Write giving reason, the
increasing order of basic
characteristics in the
following :

NH,, (CH,).N,
CH,NH,, (CH,L,NH. .

) How would you prepare
chlorobenzene from diazonium
salt and aniline from
chlorobenzene ? Write chemical
equation only. 2+2

¢} Wnte short notes on the following :

1) Electrophoresis

i) Tyndall effect

i) Dialysis

iv) Brownian movement.

1+1+1+1
d) Write the main ores of the
following  metals with . their
chemical formulae :
() Al (i) Fe (i) Cu (iv) Zn
. 114141
6. ®) 1) FEEEd A Y A S W
HTT 2
%) TRUwEY
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y) TR 3T
2 TR :
ii) muqu,-'fg?ﬂqa?@@i“j“
A IR IR WA F MR W
Ffg 1+1+1+2
1 g
7 A F Lu.pac. Tm

fefaw - .
_ CH,
) CHy-CH-CH-C—CH,
H3OH CH,
Hj

. OH
Hy
iii) CH;;—O—CHTEH—-CH:,

. H,
OCH,

COCH,
iv)
v} (CH,),C.0H
I+1+1414,

PN o

347(WC)

Q)

u)

6.3) i)

i) Differentiate between

12
frfeten w g ool fefa
) e sl
i) Oeees sl
i) evdn-Fa afvlwa
iv)  Toskd 9
v) e'ﬁﬁm.r{‘f3ﬁqﬁﬂn1+1+14»]l+1
FN Y WA 50 —

o) ﬁﬁ'ﬁﬁm?m?
Q T Y TR 2
1) Wﬁgﬁﬂ@@z’mﬂm{

+

How would you ‘Prepare phenol
X) from diazonium salt ?

¥} from sulphonie acid ?

z) from cumene ?

Primary,
tertiary alcohols
structures,

1+]_+]_+2

secondary and
according to their

OR
Give LU.PAC. names of the
following compounds -

H3OH CH,
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ii)
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. Write short notes on the fo

. s s s
R e
N o

3 347 (we)

Hj

S~
i N NOoH

CH,4
im_cer—FHf'i;CH3

OCH,

COCH, .

iv)
v) (CH,),C.OH

Howing :
i) Etard reaction

i) . Rosenmund reaction
i) Gatterman-Koch reaction
iv) Aldol condensation _
v} Cannizzaro's reaction.
1+1+1+1+
. ‘OR
How would you obtain —
P) Acetophenone from Benzoyl
. chloride ? :
Q) Aceto

phenone from Benzene ?
r)  Acetophenone from

Benzonitrile ?
Write down the

distinc:tion between
Aldehydes ang Ketones wj
help of Fehling s i d o, e

I T‘\Ih\. a---—-r

1+1+1+1+1 -

347 W_{C\

7.9

14
&= fa ¢ 56 (9 T
ET) —

i] mmaﬁmKoH%
g T o ST E 2 ‘

ii) ﬁﬁéﬁmﬁmq&maﬁimgﬁ
ATt X & ? i

i) TR Were faoad ¥ wRGH 9
Valed S{d & 2

iv) §%% BERRE ® W Hiedw

D6543%

wowse faet & @ ™ fem
S E ? o
v O WeHERE F & Y O @
T e A ¥ 2
1+1+,1+1+1

Jegar
P R i ool fefa -
i) g kR

i)  eI-Tefem sfafea

i) p=AH % A B Y R
G ir)

iv) HIEHH % I5m
V) IR & A
I+141+ 14
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P
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i & g @A

e

i)

FrEgifaaeeio

ili) R -
1v) a’lﬁ? i *

v)

@aﬁrﬁﬁmaﬁfaﬂwﬁﬁwﬂ

rdifes TeRgRs!

1+1+1+1+1
HAY4r

ey | 5

a) What happens when (Give chemical

equations only ) —

i)
ii)
i)

iv)

v)

D6543g

Ethyl bromide is heated with
alcoholic KOH 7. _
Methyl chloride reacts with dry
ethereal sodium ?

Phosphine gas is passed in
copper sulphate solution ? .
White phosphorus is heated
with  concentrated  sodium
hydroxide solution ?

Copper is heated with
concentrated sulphuric acig ?

1+1+1+1+1
OR

n over.

b)

D65438

16

Write short notes on

) Wurly reaction

ii) WurLz-FitLig reaction

i)  Genera| clectronic configuration
of p-block clements

Uses of Phosphine

Interhalogen compounds.

I+1+14+1+)

structures and

Cts formed when
treated with the

the following

1v)
v)

Write down the
names of the prody
D-glucose s
following :

1) Hydroxylamine
ii)  Hydroiodic acid
i)  Nitric acid

iv)  Bromine water

V) Acetic anhydride.
1+1+1+1+1

- OR :
Discuss the struct

ure of glucose in
detail.’

S
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